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113|RAV S 1 1 Ke |&)I 1,080 712
114|B5EFE 97 97| Kg e 2,970 1,620
117[14 % 9 9 Ke fE 3,780
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206| = 1F 411 411 Kg =8 1,188 216
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1/1




O T R R ENFE T Y (R 5) il B it
SMTHE2H 140 (£EA)

T HEInt e e 1.3 [

(it T BB 5 Te)
4 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —

AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 75 751 Kg s 4,428 1,836
71019 2 ®HA0F 266 266| Kg PN 783 756
713|L L» HHF 7 7l Kg bF 1,152
755(Fd L 30 301 Kg B 831 728
56| £ 9 13 13 Kg SR 1,163
7611 b BHAEL 6 6] Kg AL 2,520
76713725 W\ H 39 391 Kg FJE 3,420 3,060
B01[IBAL = 1S 141 141 Kg blo ] 2,376 1,188
802|1 x| 40 401 Kg gl 1,836 1,404
8051 1E 449 449  Kg JbiF 1,145 216
810|FAKF 207 2071 Kg bF 4,644 2,160
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